7000 GeV pp Underlying Event

a0 I Y I O O I B L LY [N L L N B W

> " _ _

& 0.25 S(E) (32 <hl <40 p""™™>05(0.2) Gev, E* > 20 GeV, 2| < 25)

o [ m  ATLAS |

> € —a— Pythia 8.212 default a

-

o A |
%0.2

~_5 L i

z T :

0.15 — _

0.1 |

0.05 — |

N _| — | — | — | o |

:I ' ' ' ' [ ' ' ' ' [ ' ' ' ' [ ' ' ' ' I:

2 & =

" n I

l:_‘ C ]

,<9 1 B H H\ T _ 1 il

e B N

E \1\/ 2

o B |

05 ] —

I T S SR T I T S SR T I T S SR T I T T TR R l

sum E_ [GeV]

Rivet 3.1.10, 400k events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


